Lesson: Derivative Techniques 2

¢ Obj - Derivatives of Trig Functions

Trig Essentials
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Gang Signs
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Other trig values
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Basic Trig ldentities
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Trig Derivative Equations:

d

1. —[sin x] = cos x
dx
d ,

2. —J[cosx] = —sinx
dx

Proof that%[sin x]=cosx

First, a couple of common limits you should know:
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And who could forget our friend, the difference quotient:
S(x+h)-f(x)
h

f'(x)=lim
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Proof that E[C"S x]=—sinx
First, a couple of common limits you should know:
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And who could forget our friend, the difference quotient:
f(x+h)-f(x)
h

J'(x)=lim

» What about Tangent, Cotangent,
Secant, and Cosecant?

Let’s derive them!

i[Tanx] = i[ Sinx }
dx dx| Cosx

» Use quotient rule:
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= So,

d
1. H[sm XxX] = cosx
)
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3. —[tan x] = sec” x
dx

2.
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5. —[secx] = sec x tan x 6.

dx
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—[cos x] = —sinx
dx
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—[cotx] = —csc” x
dx

d
—J[cscx] = —cscx cot x
dx

EX. 1: Finddy/dxif y = x- Sinx
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EX. 2: Find dy/dx if y=

EX.3 : Findf "(%) if f(x)=Secx



